TR KATHEE )+
P22 ik NL?.;.J

2fFHITTEE,
fRciBEREY T4

W SMEE

W . RE®E15

1
T

1
4

nor
=T

[
T

O
=
Bl

HBiEhttaeen LR

RPN RN R EE AR ER TR T .

200

180
160 NL18
140
e
~ \
- 120 TE
4 100 A
& \
80 V[ _NL10
—Z | _NLO8|
60 e
B NLO6~NL18 0 [P | NLo6
| —
BT NL04
20
| E—
0 1000 2000 3000 4000 5000
E#5EE - mino

W SMER <

N N O O P P

F =/ X B/ BX &/ U

52 6 M10x15| 3
NLO6 |165| 74 |140| 5 [1048| 6M10 | 14 | 20 | 405 |34 |1375| 925(1015| 815| 31 |12 | 36 |M16X20| 4 |34 | 35 | 72 [M6X10/116
NLO8 |210| 85|170| 5 |1334| 6M12 |20 | 25| 481 |40 |2075|11.75(131 {106 | 35 |14 | 36 |M20X25| 5 |38 |42 | 95 [M6X12|150
NL10 |254| 89 |220| 5 |[1714| 6M16 | 18 | 30 | 544 4535|295 |115 (161 {133 | 40 |16 | 36 | M20X25| 5 |45 | 46 [110 [M8X15[190
NL12 | 304|106 (220 6 |1714| 6MI16 |18 | 30 | 657 |56 [4275|1275|47 | 17 | B0 |18 | 46 | M24x30| 5 |50 | 54 (129 |M8Xx15/190
NL18 |450|114|300| 6 [235 | 6M20 | 30 | 43 | 1105|975 |4725]2325| 97 | 67 | B0 |255| B5 | M30 2 [ B5 | 61 | 135 [M10x20(260

W A

o B BEGEn (GEEE) REGR SHE) ﬁxawgﬁ waEas ML UMR pEwe BAEN REWR REAT
NLO4 110 12 12.1 15 100(1020) 4 (1468)| 5000 4.1 0.008 Y0715R | 2.90(29.6) SBO04B1
NLOB6 |165 22 13 20 21.0(2141) 390 (3977)| 4300 12.0 0.045 Y1020R | 3.00(306)| HBOBB1 | SBOBB1
NLO8 |210 23 162 25 30.0(3059)| 600 (6118)| 3600 229 0.138 Y1225R | 290(296)| HBOBA1 | SBO8B1
NL10 |254 27 181 28 40.0(4079) 0 (8260)| 3100 34.6 0.300 Y1530R | 2.80(286)| HB10OA1 | SB10A1
NL12 |304 33 194 30 54.0(5506) |1 (1 1319)| 2500 60.0 0.725 Y1530R | 360(36.7)| HB12B1 | SB12A1
NL18 |450 124 26 40 91.0(9279)|186.0(18966)| 2100 124.0 2.350 Y2050R | 3.50(35.9) SBI15N1






